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— HEHE (BEsD)
Lab>co kEEER F X+ KEBX + ax — 622 + by + ex + 3V P S K £
A1 B)-1 (©)2 (D)3 (E)6
Ans : (A)(B)(D)
AT
a'brcrkeZ x+k|x*+ax—6 = x+k|[x}+bx®+cx+3
— K[67K|3 = k|3 = k=+1>+3

2. degf(x)=5- degg(x) =3 [l JIFsif ¥ L= 2
(A) deg (HCF) < deg (LCM) (B) deg (HCF) + deg (LCM) =8
(C) deg (HCF) {4kl 3 (D) deg (LCM) $&t /[ /L5
(E) deg (LCM) &t RL7
Ans : (A)(B)(C) (D)
AT
(A)'." HCF|LCM .. deg (HCF)<deg (LCM)
(B)'." degf (x)+ deg g(x) = deg (HCF) + deg (LCM) =8
(C)(D) deg (HCF){s~ =degf(x) - degg(X)fl1VfE ¥ <« deg(LCM)f ]
(E) deg (LCM)fst* =deg f (x) + deg g(x) =8

— ERB(BEL )
LEX) =x—x®—2+2> gx)=x®+3x% -4 [[If (x) > g(x).VH.C.F£S,
Ans: x*-1
AT
HRIFX) - X2 - g) =—xB -3t — 2% + 4%+ 2=—x® -3+ 2x* + 2
Fh(x) =~ X8 3+ 2%+ 2
HREg(X) +h(X) = - 3x* + 5x* = 2 = — (* ~1)(3x* - 2)
([13x% =2 TRLF(X) » g()VH.CF ("0 f(x) > 9OX). ft ly FBTRER L 1)
HCF=x*-1
2. Fatimohe #/f () =X +X* - 4x+ (a-7)Fg(x) = 2¢ - Ix* + Tx + (2a - B)fIvie iy 2t =N AT
— T e fifr £
Ans : 3
AT
S1Af (X) = X0+ X% = 4x+ (@ - 7)=2g(x) = 2xX° — 7X° + 7x + (2a — 8) VHCF i~ %5
FHEA0) 0 F 091209 - 900 = d()[3 (3¢ -5x-2) = d()|3(x-2)(3x+ 1)
d(x) =x-2> fvd(x) =3x+1
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(1):‘Eld(X):X_2’E!”X_Z“:(X) = f(2)=0 = 8+4—8+(a—7)=O:> a=3
@FdX)=3x+1- [ 3x+1]f(x) = f(_?l):o

-1 1 4 151
—+=+—+a-7=0 = a="—"2 ZBFH T
2779 3 T

27
fierrtal it 3
3. ST 2N+ ax’ + 22X+ 4= 2+ X + A X+ 2 F | {lW T W AN flfafivfif £

Ans: 2
AT
F%(x):x3+ax2+2x+4 > g(x) = 2% + X2 + a’x + 2
=L ()EEg() F— i R TN ZERA(X) 0 F
dx) | 2f () —g(x) = d(X)| (2a—-1) x>+ (4 —a%) X + 6+++++-@
<dX) [ f(X) —29)= d(X) |-x[3¢+ (2 —a)x + 2(a® -1)]
POXZH (OZEQOOFUP=  F7T fd(x) | 3° + (2 - a)x + 2(a° ~1)-++++- @

_ Y
EI‘@)’@;‘TZa 1 _4-a° (25
3 2-a 2(a-))
waz2. g2, 0 34 Ao
2(a“-1) 3
sax2 f2ATL_2F_ 3 o 1-643a = a=-7
3 1 a -1
2-7 3 1
(fl —=5= # =— . a=-7714
e 1 (-7)*-1 16 T

4. FF (0 =%+ bx® +ox+12g(x) =3 + o+ bx+ 1 F = g R
b+c=
Ans: -2
BT
et (0 g0l = e il 2 PR ()
U de) [ () —9(x)
= d(x)|(b-c)x*+(c—b)x
= dX)|(b-c)x(x-1)
Fh=c [If (x)=9g(x) =x*+bx*+cx+ 1 T
<f(0)=120 .. xif(x)- ﬁ'sfd(x) —x-1
f(1)=9g(1)=0 = b+c=-2

5. rl%d(x) FX — 2x% — BX + 6 22 + k2 X2 — 2kx — 16 I/ — Sy T P Nk e Fd(x)
B v k= o

Ans: -3
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EJ@[#?:

f(X)=x3—2x* —5x+ 6 = (x =1)(x — 3)(X + 2)
g(x) = x° + k*x* — 2kx —16
F%d(x) =(x—a)(x — b)ELf (x) > g(x) i R
a<b .. a>bfy1-3,-2=HIZ
<“a|16:b|16 .. a=-2:b=1

g(1) =k? =2k —15= (k=5)(k +3) = 0
{g(—Z):4k2+4k—24:4(k+3)(k—2):0

k=-3

6. r,% () = x>+ ax’ — 5x + (a — 7)22g(x) = X’ + ax — 2 fYHCF {3~ -~= > Hla =
FLIEE)

Ans: 1

E]Ziﬁ :
%‘f (x) > g(X)FVHCFELd(x)
E'Ud(X) [f()-xg(x) = dx)[-3Xx+(@-7) = dXx)[-3(x ——)

4o [g(x) = g(%)zo N (a‘97) +a(a3‘7)_z:o

— 4a°-35a+31=0 = (a-1)(4a-31)=0
a= 1{;{‘/a:%’|ﬂafE ﬁZ‘ghr c.ooa=1

7. 27 (X) = X3+ ax’ — 4x + 2 2g(x) = X° + bx* - 2 frofed iy 2 Pz R
Hr¥i(a - b) =
Ans: (1> 3)
e
il ()==g(X)FYH.C.FELd(X) > Hld(x) | f (x) — 9(x)
= dX) | (C+at-—4ax+2) - (C+bx¥-2)
= dX)|(@a—-b) x> —4x + 4D
d(x) | f () +g(x)
= dX) | C+axt—4ax+2)+(C+bx¥-2)
= dx) |2+ (a+b) x*—4x
= d(X)|x[2*+(@a+b)x—4]---@
a-b -4 4

o » @ l—z—:—
E A a+b -4

8. l1%(x) X—2x =3 g(x) =x* —4x* +4x -3 > h(x) = 2x" = 5> = 3x* + X — Bﬁlifﬁﬁ N

d(x) - & (52 MO - Hld(x) = > m(x) =
Ans: x—3: (x—-3)(x+1)0¢-x+1)2x* - x+1)
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BT
f(X)=X+1)(x=3) > gX)=X-3)*=x+1) > h(X) = (X + 1)(x = 3)(2x* = x + 1)
HCF=d(x)=x-3
LCM =m(x) = (x — 3)(x + 1)(x* — x + 1)(2x* — x + 1)

9.a b ceN> % +3%+ax+ 2 X+ 4%+ bx + 6 fUHCFELX + ¢ » [l
@ b-c)=_

Ans: (4595 DG 7 2)

T
FIF = WP A i

Fix+c|x°+ 3¢ +ax+2 > x+¢|x° +4x°+ bx + 6

cl2c|6 S.ocl(2:°6)=2> 7 ceN .. C=lﬁ92
fg‘.r’l’c:lﬁ?«'j’x+l|x3+3x2+ax+2 Cooa=4 o x+1x+43%+bx+6 . b=9
fg‘.r’l’c:ZE%'j’x+2|x3+3x2+ax+2 Jooa=30 x+2|¢C+4°+bx+6 . b=7

10. F%CE@Z‘%\’T P EF () =X+ o+ X+ 2g(xX) = X+ CX + 2 frofe iy s Pt - v I
c= o

Ans: -3
T
F%x-a?@f(x)ag(x)p’lfjﬁﬁ,ljj?[ﬂ?“: al2 .. a=+1-42
f1:4 = :—4
()a=1: @=4+c=0 c ”?7
g()=3+c=0 c=-3
f(-)=c= =
(2)a=1: (-)=c=0 - c O:’\’"’F(‘
g(-1)=3+c=0 c=-3
f(2)=12+4c=
@)acp: | [@=l2rde=0 4
g(2)=6+2c=0

f(X)=x -3¢ +x+2=(x—-2)(xX*—x-1)
g(x) =x3—3x+2=(x - 2)(x -1)
f(-2)=-8+4c=0 =2
@a=_2: (-2 +4c N C :),‘)Ff[
g(-2)=6-2c=0 c=3
11 abRBERr £ () =X° —x* + dx+a—7> g(x) = 2 + 5X° = 7x + 2a -6 » =!I 4if (OFIGO)F Ly
P R TRall
Ans: 3
BT
fX)=x-x*+4x+a-7
g(x) =2x> +5x° - 7x + 2a— 6
B (OGO 7 P74 1300
dX) [ g(x) —2f(X)= d(x)|7x*-15x+8 = d(x)|(7x —8)(x — 1)
dx)=7x-8x-1 "7 aeZ .. d(x)=x-1
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A [£09 > d) g . x=1[f(x) > x-1]g(x)= f(1)=0->9(1)=0

1-1+4+a-7=0 .. a=3
12, F Py 2720 + X + a2’ + ax + bpYHCFEIX + 1 » [[ILCME °
Ans : x*+x

T
x+1|x¥+x+a = 1-1+a=0 = a=0
x+1|xC+ax+b = x+1|x+b = -1+b=0 = b=1
() (C+D)

. LCM = =x(xX*+1)=x"+x
X+1

13.F () =x° + 2x* + 3 — 2x* = 3x + 2 Z2g(X) = X* + 4x* — 5x + 2 [kl 7 P 5
Ans @ . x*+x-1

BT ¢ REUI[R

1 1+24+1-2- 3+2(1+4+0-5 +2
1+4+0-5+ 2 X3
-2 -2+1+43- 5+2 [3+12+0-15+6 1
-2-8+0+10-4 |[3+1-5+2
3] 9+3-15+6 11+5-17+6 3

3+1-5+2 9+3-15+6
3 3+3-3+0 202+2-240
-2)-2-2+2 1+1-1+0 1
+1+1-1 1+1-1
+0+0 +0

() g()=x+x-1
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